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QUESTION 1

What operation is performed by a P device on the label signaled by MP-BGP when it receives a labeled packet for a
VPRN service?

A. It will label switch the packet based on this label

B. It will decrement the TTL and label switch the packet based on this label
C. It will SWAP the label for a new label and then label switch the packet
D. The P router does not perform any operation on this label

Correct Answer: D

QUESTION 2

Click the exhibit.

CE3
VPN A

CE2

All sites in the displayed network require Internet access. Route reflector 1(RR1) is used for Internet routes only and
route reflector 2(RR2) is used for VPN routes only. Which of the following is FALSE?

A. BGP sessions between RR1 and PE routers support only the IPv4 address family.

B. BGP sessions between RR2 and PE routers support only the VPN-IPv4 address family.
C. RR2 establishes BGP sessions with PE1, PE2 and PES3.

D. RR1 establishes BGP sessions only with PE1 and PE2.

Correct Answer: D

Latest 4A0-106 Dumps | 4A0-106 VCE Dumps | 4A0-106 Exam Questions 2/11


https://www.passapply.com/4a0-106.html
https://www.passapply.com/4a0-106.html
https://www.passapply.com/4a0-106.html

VCE & PDF https://lwww.passapply.com/4a0-106.htmi
2024 Latest passapply 4A0-106 PDF and VCE dumps Download
PassApply.com

QUESTION 3

An advantage of using BGP as the PE-CE protocol is that route policies are no longer required to control the exchange
of routes from BGP to MP-BGP.

A. True
B. False

Correct Answer: B

QUESTION 4

A CE hub and spoke VPRN has two spoke sites; which of the following would be the best option to implement this
topology at the hub site PE?

A. One VPRN, one route distinguisher, and two route targets

B. Two VPRNSs, one route distinguisher, and three route targets
C. Two VPRNSs, two route distinguishers, and three route targets
D. One VPRN, two route distinguishers, and three route targets

Correct Answer: A

QUESTION 5

Click the exhibit.
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According to the display, a BGP loop is detected for route 192.168.1.0/27. On which router is this command executed?
A. CE1l
B. CE2
C.PE1
D. PE2

Correct Answer: B

QUESTION 6

Click the exhibit.
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CSC-PE1
AS 2000

AS 1000
(MPLS VPHN)

AS 10

AS 10
192.168.10.1 !

192.168.20.1

A Carrier Supporting Carrier (CSC) VPRN is configured for a customer carrier who is a BGP/MPLS service provider.
Which of the following describes the routes present in PE1\\'s global routing table?

A. The system address of PE2 is present. The system addresses of CSC-PE1 and CSC-PE2 are not present.
B. The system addresses of PE2, CSC-PE1 and CSC-PE2 are all present.

C. The system address of CSC-CEL1, the route 192.168.10.1, and the route 192.168.20.1 are all present.

D. The system address of PE2 and the route 192.168.20.1 are present.

Correct Answer: A

QUESTION 7

Which of the following about scaling techniques for route reflectors is FALSE?

A. Logical Partitioning of route reflectors works best when PEs are partitioned to support different VPRNs.
B. Logical Partitioning of route reflectors is simple and scalable, but requires more hardware.

C. Filtering at route reflectors requires either inbound filtering at the route reflector or outbound filtering at the PE
routers.

D. Filtering at route reflectors allows the route reflector to filter routes received from PEs and only accept routes with a
certain route distinguisher.

Correct Answer: D

QUESTION 8

Click the exhibit.
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.‘IIF Blue VRF Blue
Provider Core Metwork

Area
P-1 P2
-1 - -‘ - 1 .1 "1 3

FE-1# configure router mpls
PE-1>configrrouterymplsf no shutdown
FE-l1>configrroucer>mplafi interface "PE-1 to P-1"
FPE-1>configrrouter>mplas>iff exit all

FE-1#

An Alcatel-Lucent 7750 SR is to be configured as a PE router that supports VPRNs using LDP as the transport protocol.
Which of the following best describes this configuration?

A. This configuration is correct and complete.

B. This configuration is correct, except that the system interface must be added.

C. This configuration is correct, except that the interfaces facing the CE routers must be added.
D. MPLS configuration is not required.

Correct Answer: D

QUESTION 9

Click the exhibit.
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.'HIF Blue YRF Blue .
Provider Core Mebrork

ArE P-1 pE-2
1112

F-1# configucre router ldp

P-1>configrrouter>1dpd interface-paramelers
F=lrconfigrroucer>ldprif=param=g interface “‘P=-1 to PE-1""
P-lrconfigrroucer>ldprif-parama-LiL§ eHit
P-isconfigrrouter>ldprif-parama interface “"P-1 to P-24
F=l»configrrouter>ldprif=param=>if§ emit
P-lrconfigrrouter>ldp> if-paramsf interface “'P-1 to P-3~7
P=isconfigrrouters>ldp> if-params>iff# exit

An Alcatel-Lucent 7750 SR is to be configured as a core router that supports VPRNSs using LDP as the transport
protocol. Which of the following best describes this configuration?

A. This configuration is correct and complete.

B. This configuration is correct, but the interfaces must also be configured in the "configure router mpls" context.
C. There is no configuration required for LDP in the core network.

D. This configuration is correct but Targeted-LDP is also required.

Correct Answer: A

QUESTION 10

Which of the following about inter-AS model C VPRNSs is FALSE?

A. Within each AS, the ASBR advertises the system addresses of remote PE routers as labeled IPv4 routes.

B. PE routers in different ASs exchange VPRN routing information directly over MP-eBGP.

C. Within each AS, MP-iBGP sessions are established to exchange VPN-IPv4 prefixes between the PE routers.
D. ASBRs exchange the system addresses of PE routers as VPN-IPv4 routes over MP-eBGP.

Correct Answer: D

QUESTION 11
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A VPLS spoke SDP is terminated on a VPRN service. The remote side of the spoke SDP is operationally "Down" with a
flag of "Service MTU Mismatch". Which command can you use on an Alcatel-Lucent 7750 SR to show the signaled
operational VC-MTU?

A. show service id base

B. show router Idp bindings

C. show service id sdp detail

D. show service id vc-mtu

Correct Answer: B

QUESTION 12

Which of the following statements is true regarding the Route Distinguisher? (Choose three)
A. Itis an 8 byte value containing 3 fields

B. The Route Distinguisher must have the same value as the Route Target.

C. The Administrator field contains either an AS number or an IP number

D. To ensure uniqueness, Route Distinguishers are assigned by the IANA.

E. The Route Distinguisher is not used if the customer addresses do not overlap

F. The Assigned Number field must contain a public IP address

Correct Answer. ABC

QUESTION 13

Click the exhibit.
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community “Hub Site” members “target:65100:1"
community “Spoke Sites” members “target:65100:2%

For the PE hub and spoke VPRN, which communities should be imported under the VPRN service on PE2?
A. "Spoke.Sites" and "Hub_Site"

B. "Hub_Site"

C. "Spoke_Sites"

D. No communities should be imported

Correct Answer: B

QUESTION 14

Which command will display the Route Target associated to a specific prefix on an Alcatel-Lucent 7750 SR?
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.VRF Blue VRF Blue '
Provider Core Network

Arer PE-
P-1 P-3

m 1.1.1.1 1.2 1.1.1.3 1131

- 17 '|i'|;

LT

7
- Vv

VRF Red O

Poute Tab_ e [(Router: XEIXXXINNIEY)

Dest Address Next Hop Type Proto Age Metric Bref
Tkl GLA3E XEXIEEEEHRER Local Lozal 14h53mi5s 0O a
Hi b e KXXEEEIZIENER Remote OSPEF 14h53mi%= 101 10
=g bl e W B4 AAUTLEXTINNLTE Remote OIFF 14h53mlls 201 10
1.4, 1.473% AHEEEEEEHNEE Remote OJFPF 14h53ml0s ZO041 10
1ot 45740 AT Ly Remote  OSPF 14h53ml3s 301 10

lo. of Boutes: &

A. Show router bgp routes

B. Show router bgp routes detail
C. Show router route-table

D. Show router route-table

E. Either (b) or (d)

Correct Answer: B

QUESTION 15

What is wrong with the configuration shown below?

A. The VPRN ID must be the same value as is used in the vrf-target command

B. The VPRN ID must be the same value as is used in the route-distinguisher command
C. The router-id command should not be used in this context

D. The vrf-target command is mandatory

E. There is nothing wrong with this configuration
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Correct Answer: E

Latest 4A0-106 Dumps 4A0-106 VCE Dumps 4A0-106 Exam Questions

Latest 4A0-106 Dumps | 4A0-106 VCE Dumps | 4A0-106 Exam Questions 11/11


https://www.passapply.com/4a0-106.html
https://www.passapply.com/4a0-106.html
https://www.passapply.com/4a0-106.html
http://www.tcpdf.org
https://www.passapply.com/4a0-106.html
https://www.passapply.com/4a0-106.html
https://www.passapply.com/4a0-106.html

